N3 ERKTIFAKEMD LR Micr “ 54 - ARFR &
I3 RS
(2 113 # 12 % &)
A B & A tet &%
proow | CH oz arA R A = B owl | CH - R7 iﬂsf‘ A =
) )
AP 56, 229, 500 16, 815 & 7,399, 000 1, 394
AT 59, 092, 000 14, 032 + 37 28,728, 000 6, 215
Y F P 59, 507, 000 16, 209 Bz 47, 290, 500 11,196
275 B 6, 685, 500 1, 860 B & Bk 24, 435, 500 6, 601
3T BR 6, 258, 000 1,702 Al 6, 862, 500 1, 830
ER: 35 10, 166, 000 2,427 TR 8,392, 500 2,327
L 79, 083, 500 21,727 ok 12, 849, 000 4,085
351 24 20, 099, 500 4, 498 LR 8, 197, 500 2,602
Z R ek 15, 884, 000 4, 288 B Rk 1,294, 500 342
3 32k 6,811, 000 1, 540 & P& 1,122, 500 228
57 6, 427, 500 1,545 TR 122,000 34
E3 B £FF 476,493 8 7,000 ~
E3aTE A= 112 F 3,497 A =
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(2 112 & 127 &)

A B & A tet &%

proow | CH oz arA R A = B owl | CH - R7 iﬂsf‘ A =
) )

AP 59, 834, 000 18,501 & 6, 744, 000 1,522
AT 52, 504, 000 16, 048 + 37 31, 294, 000 7, 364
Y F P 47, 936, 000 16, 557 Bz 47, 096, 000 12,907
275 B 6, 706, 000 2,010 B & Bk 22,422,000 6, 928
3T BR 5, 304, 000 1,783 Al 6, 693, 000 2,097
ER: 35 9,902, 000 2,712 TR 7,769, 000 2,452
L 73, 489, 000 23,128 ok 11, 814,000 4, 308
351 24 17,061, 000 4,603 LR 7, 147,000 2,132
Z R ek 14, 295, 000 4,692 B Rk 1,378,000 385
3 32k 6, 080, 000 1,596 & P& 1,208, 000 270
& 7, 266, 000 1,821 T B 60, 000 24
E34Fes £%F 141 4,000%F 2,000 ~
E3ATE A= 113 F 4,440 A =
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I3 RS
(2 111 & 12 % A h)
A B & A tet &%
proow | CH oz arA R A = B owl | CH - R7 iﬂsf‘ A =
) )
AP 56, 584, 000 19, 754 E &R 7,988, 000 1,722
AT 60, 939, 000 17, 987 + 37 34, 404, 000 8,595
Y F P 50, 063, 000 16, 727 Bz 52, 563, 000 14,517
275 B 6, 731, 000 2,169 B & Bk 24, 892, 000 7,587
3T BR 6, 391, 000 1,959 Al 7, 865, 000 2,404
ER: 35 10, 273, 000 2,911 TR 8,431, 000 2,497
R 78, 375, 000 24, 649 iR 12, 259, 000 4, 544
351 24 19,010, 000 4,788 LR 7,893, 000 2,945
Z R ek 16, 769, 000 o, 151 B Rk 1, 589, 000 512
3 32k 6, 965, 000 1,716 & P& 1,071, 000 274
& 7,010,000 2,016 T B 57,000 22
LAt £3F 4R T7,812F 2,000 ~
E3AfE A= 114 F 5,446 A =
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(2 110 & 12 % & 1)

A B & A tet &%

proow | CH oz arA R A = B owl | CH - R7 iﬂsf‘ A =
) )

AP 62, 928, 000 20, 437 & 7,415, 000 1,778
AT 60, 349, 000 18, 598 + 37 38, 796, 000 9, 622
Y F P 50, 354, 000 16, 561 Bz 59, 434, 000 16,110
275 B 7,450, 000 2, 287 B & Bk 25, 813, 000 7,953
3T BR 6, 866, 000 2, 054 Al 8,111,000 2,531
ER: 35 11,001, 000 3, 089 TR 7,952, 000 2,425
L 79, 975, 000 24, 957 ok 11,672,000 4,273
351 24 18, 215, 000 4,799 LR 8,020, 000 3, 138
Z R ek 16, 155, 000 9,295 B Rk 1,597, 000 492
3 32k 6, 602, 000 1,835 & P& 1,102, 000 281
& 8,678, 000 2,208 i@ T BR 61,000 24
E3 B £5F 479,848 6,000 ~
L3Abes A % 11540, 74T * %
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(2 109 # 12 % & 1t)

A B & A tet &%

proow | CH oz arA R A = B owl | CH - R7 iﬂsf‘ A =
) )

&AL 65, 738, 000 21,090 & 9,437,000 2,072
AT 67,221,000 20, 239 + 37 42,577,000 10, 211
Y F P 51, 220, 000 16, 038 Bz 66, 453, 000 18, 314
275 B 7,520,000 2,275 B & Bk 28, 945, 000 8, 497
3T BR 7,021, 000 2,016 Al 9, 065, 000 2,748
ER: 35 11,649, 000 3,101 TR 8,759, 000 2,444
L 84,900, 000 25, 853 ok 12, 050, 000 4,139
351 24 20, 315, 000 0,109 LR 8, 954, 000 3,199
Z R ek 17,563, 000 0, 341 B Rk 1,838, 000 591
3 32k 7, 966, 000 2,052 & P& 1, 365, 000 321
& 9, 188, 000 2,344 T B 119, 000 44
E3taret £3F 5 R 3,986 F 3,000 ~
LAt es A = 115§ 8,038 4 =
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Kofg» = F 4
$%HF“£ A= £ ~

CEHRER £

(2 108 # 12 % & 1t)

e &3 e &R

prwom] | (H - AT % A 2 i ow| CHE =373 % A =
) )

&AL 63, 477,000 21, 681 & 11, 944, 000 2,453
AT 75, 838, 000 21, 825 + 37 47, 403, 000 11,579
Y F P 50, 496, 000 15,195 Bz 17,292,000 21,403
275 B 7,678,000 2, 296 B & Bk 31, 544, 000 9,112
3T BR 8,472,000 2,183 Al 10,471,000 3,103
ER: 35 12,783, 000 3, 308 TR 9, 063, 000 2,595
L 85, 540, 000 26, 085 ok 12,989, 000 4, 398
351 24 23, 755, 000 9, 301 LR 10, 207,000 3, 148
Z R ek 19, 098, 000 9, 081 B Rk 2,279,000 17
3 32k 9, 666, 000 2,301 & P& 1,180, 000 293
57 8,524, 000 2, 358 TR 120, 000 90
E3 B £ CORT,981 8 9,000 ~
L3APEt A % 1164 7,615 % =




107 EFRKTINEA L&A LS Mjer 2 B4 -« LA &
EFE AT A
(2 107 & 12 % R )
it e A TE4 4%
geoeou] | (H ik N LI @ R 7};@% N
) )
X 77,530, 000 23,108 | zam 14, 752, 000 2, 732
Frat 81, 003, 000 23,425 | £ a7 62, 150, 000 13,414
ok 50, 583, 000 14,480 | %z 88, 334, 000 23, 870
377 8, 558, 000 2,326 | BAm 35, 014, 000 9, 688
374 8, 130, 000 2,248 | A 11, 4217, 000 3, 467
5 A 13, 731, 000 3,465 | ¥ ek 9,583, 000 2,819
103 96, 039, 000 27,244 | wiEm 13, 402, 000 4, 558
350 B 24, 778, 000 5,457 | 4 &% 9, 905, 000 4, 248
Z e 18, 688, 000 5869 | #Ewm 2,202,000 799
% 2 8, 880, 000 2,454 | &£ 1, 456, 000 308
L& 11, 027, 000 2,490 | @iz 112, 000 48
E4Bs £3F 167 4,728 8 4,000 ~
E3ap A 1178/ 8,017 A=
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$%HF“£ A= £ ~

(2 106 # 12 % & 1t)

A B & A tet &%
proow | CH oz arA R A = B owl | CH - R7 iﬂsf‘ A =
D) )
&AL 88, 662, 000 24,515 & 16, 879, 000 2,128
AT 93, 818, 000 29, 943 + 37 77,362,000 14,676
Y F P 54, 418, 000 14, 452 Bz 107, 257, 000 27,726
275 B 9,378,000 2,409 B & Bk 39, 662, 000 10, 292
3T BR 7,733,000 2,221 Al 12,752, 000 3, 669
ER: 35 13, 589, 000 3,484 TR 11,097,000 3, 085
L 105, 715, 000 28, 098 ok 13, 310,000 4, 425
351 24 25,402, 000 0,427 LR 9,433, 000 4, 480
Z R ek 20, 508, 000 0, 942 B Rk 2,094, 000 845
3 32k 9,190, 000 2,554 & P& 1, 366, 000 305
&7 11,974,000 2,497 T B 84,000 48

LAt £3F TR 3,168 F 3,000 ~
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9,821 A =%




105 # R TINEA A £4T 80 2

TR

EVQ-T_;

Mg r = F 4

RIS TRE)

N .4\‘: iﬁ—ﬁ Fe

&

(2 105 12 % & 1t)

A B & A tet &%

proow | CH oz arA R A = B owl | CH - R7 iﬂsf‘ A =
) )

AP 95, 957, 746 57, 834 & 22,502,993 12,939
AT 122, 815, 336 69, 793 + 37 92, 308, 018 41,125
Y F P 66, 524, 812 45,911 Bz 148, 391, 392 86, 283
275 B 10, 445, 184 4, 892 B & Bk 59, 701, 758 35, 215
3T BR 9, 136, 359 4, 206 Al 14, 336, 161 5, 210
ER: 35 17,170, 477 11,052 TR 16, 548, 981 11,129
L 116, 473, 602 58, 223 ok 13, 539, 000 9,570
351 24 39, 368, 700 27, 947 LR 12, 808, 296 12, 522
Z R ek 26, 162, 123 15, 369 B Rk 2, 250, 800 3, 061
3 32k 11, 296, 000 2,912 & P& 1,282, 990 581
&7 12,542, 114 0, 243 i@ T BR 111,000 52
EFABLEEFE CORO0,767 8 3,842 ~
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1,569 £ =%
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CEHRER £

(% 104 & 12 7 &)
et & 3E e E3E
LA NG SR g S - I @ A A=
) =)
iAW 99, 758, 236 61,501 | &£ &%k 19, 879, 124 12, 341
RTAL T 133, 626, 024 90, 744 | % & 7 18, 272,175 25, 846
F4 ] B 76, 569, 339 64,516 | % z7 136, 796, 597 60, 466
e 21, 690, 635 36,016 | & & &t 62, 367, 228 20, 219
3T Rk 33, 954, 385 30,361 | A+ 22,705,100 9, 596
ER. 3L 24, 874, 150 36,912 | =kt 12,943, 080 6, 600
40 89, 630, 629 34,904 | =iER: 13, 279, 264 5,916
LS 1 42, 952, 418 8,702 | % 4% 10, 681, 021 7,091
2 ik 20, 853, 489 12,697 | & 2k 2,663, 191 3,593
B Rk 28, 237, 811 23,182 | £mzk 1,675,570 609
£ &7 16, 185, 591 4,323 | @iz Rk 111,000 o4
EATES £4F 297 4,970 8 6,057 =
£33 A % 155 F 6,249 4 =




103 ERKTIF AR LR Wfer B2 AR &
p 4 fl;»]',:fl;;a;:% ﬁgga A = 2

(2 103 # 12 % & 1b)

it B4 & 3R A et & 3R
Rl (Feogrgn | AF [ RSN (EEIATER ) 4%
<) ~ )

44 121, 852, 203 64,957 | &£ &5 22,468, 012 13, 096

R B 140, 264, 753 74,151 | £ &+ 111, 354, 141 48,133

b ) 71,990, 399 50,036 | 5z 174,016, 225 98, 849

b
7 12,998, 947 4,744 | B L &k 61,781, 144 36, 925

R RA 11,678, 210 5,081 | #K 16, 834, 920 5, 802

R 20, 092, 600 11,282 | = fF &% 20, 560, 961 13, 956

W
t ¢ 1277, 295, 482 60,947 | iRk 14, 297, 000 9, 526
;1Y EY 39, 802, 600 24,286 | + L 2% 14, 836, 635 15, 658

2 1Rk 27,871, 191 17,388 | & &k 3, 985, 920 5, 059

EE 16, 885, 235 6,999 | &2k 1, 595, 560 520

%7 | 14,185,826 | 4,878 | @i 93, 000 10

£
E3AEL £4F 1107 4,674 8 0,964 ~
L
v
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TR
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Mg r = F 4
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(21024 127 AL)
A B4 £ R At s £ 3R
me oy | (HEird i L2 2w ) (Hi=:374 % 2 =
=) =)

4 71,718, 996 61, 039 LA 18, 537, 994 12, 415
;AL w 86, 790, 915 100,276 | & ® 39, 375, 975 32,604
v F 42, 236, 834 47, 370 B e 104, 325, 710 92, 595
2074 B 11, 540, 740 4,576 B Rk 32, 155, 925 31, 028
T A 9, 164, 782 4,597 A 8,584, 375 4, 350
RS 11,910, 504 10, 151 TR 13, 882, 932 13,607
A 60, 223, 259 51,078 e 8, 936, 900 6, 960
351 B4 15,273,075 20, 226 * LBk 13,775, 685 14, 882
Z A 33, 531, 443 17,412 EiP R 17,058, 520 9, 653
s 32k 12,719, 636 6, 769 LRl 1 1, 987, 850 386
£ 8, 298, 824 4, 242 T DA A 7,747,000 414
3 ATEL £ 16 3,037TH 7,874~
g3t A=x 1b4 F§ 2,630 * =<




